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sl & forw s e /instructions to the Candidates

1. Maamaaﬁﬁaﬂﬁmammmmsas‘a%mw mwm#m

You have been called for the written test based on the online data furnished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required

qualification as per our advertisement, your candidature will be rejected.

2. SR, 80 TRl & YoF WRA-GREAH & T A Y 3R e @ yrafer 90 Pere

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
90 minutes.

3. 9R fawedt afga argfass waR & g g9 fowd & % vw e &7 @ @g g

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. 9% g FTAT 01 3w g 3R e 7Tad Ieak F AT 0.33 3F Fer S|
Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.

FqaT gEU g5 W/P.T.0.



5. 9! % 3eal & & FT et faafta wfar afger arerr MuAHR eaR-giReas & seef|

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. TR STeN/HT TATET &F Tl WS U7 ¥ 3TUHAT Icck- Wﬁmﬁaﬁaﬁﬁﬁﬁﬁmaﬁr
3 FT IAT FLT

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. Ueh WeT o ToIU Ae¥eh 3ea & U ITeld Jcad HIAT AT
Multiple answers for a question will be regarded as wrong answer.

8. FIW ¥ Plet & Fled YeA-GREAR F HIZ Pl HVANR IcaR-IdH A U 10 Furet eI
il

Question booklet code printed on the top right corner should be written_in_the OMR answer sheet in_the
space provided.

9. TA-GIEAHT A HITHT ATH TUT HeTshATh Tl fordd |
Enter your Name and Roll Number correctly in the question booklet.

10. FTA3 Seat-qReae 7 wolr whafeeat airelyarel Famd & afer argeder @ & Hr s anfyw
All entries in the OMR answer sheet should be with blue/black ball point pen only.

11. iyt gfer & frfreres &Y 3ufRufa & &) 3mueh! gier-fedhe X EEameT YA anfgv|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

Computers, calculators, mabile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

13. gof ; G2l F Ad

On completion_of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet 1o the invigilator and retain the duplicate copy with you.

14, SreA-qiEenr 3Tl 3= I 7@ AHRA 8
The question booklet can be retained by the candidates.

15. 1T & waer o & Rt 3 wt odieT gfe oisa i s gt )

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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gaNga-df - el / Technician-B — Machinist

CNC ¥ #t faders A yonelr & e fRufa &t +gr Jman §;

The Zero position in the co-ordinate measuring system of a CNC lathe is called;
(a) TH ﬁ'cg !/ Reference Point (b FEF AT ﬁ§ ! Work Zero Point
(¢c) M SIRY carse / Machine Zero Point  (d) AR Y= &g / Programme Zero point

3MEUW: 3179 F HAR, FENF AT # IR H W =W 52

As per IS: 3179, what is the range of sizes in feeler gauges?

(@) 0.001%® 0.05F M. /0.001t00.05mm (b) 0.01F 2.00 AT, /0.01 to 2.00 mm
© 0.02 3 0.75 .. 7 0.02 to 0.75 mm (d 0.03F 1.00A.#Y./0.03 to 1.00 mm

TR R 7 Afgge & g w2 §7

What is the unit of module in spur gear?

(a) #HEX/ Metre (b) GERET/ Centimetre
(c) TSI/ Millimetre (d) ga/Inch

o 3 e 1 goel &1 3TAer & wied sdaer #, atfauea Rt & v S @ sue
R e 87

In the assemblies obtained by using the system of limits and fits, which statement is
applicable for damaged parts?

(a) 1 WETATT & AT =T 8197/ Have to be made with new tolerance
(b) FEEN W FEHER P QAT 3IGET A GEAT ST Thar & / May be easily replaced

without rejecting the assembly
(c) ITAFR FLAT HIGWF & / Are required to be scrapped

(d) T&AT AL AT AT/ Cannot be replaced

U FFH § H A &

The value of one micro inch is:

(a) 0.000001 %</ inch (b)  0.00001 3T/ inch
(¢) 0.0001 %/ inch (d) 0.00189 /inch
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6. Tarafaf@a & ¥ #l7 ar e Sneer FElsE o & g ¥ BT Fa 3rear 39T far
T 87

Which among the following abrasive is best used for honing Tungsten Carbide Dies?

(a) TeIfAATH 3HA133 / Aluminium Oxide

(b) TATAFA FETEE / Silicon Carbide
(¢) &1/ Diamond
(d) ®WIT FESS/ Boron Carbide

7.  WHARET: 3cUigA A gant Rl v wag 4 fr Rer wgen &

The direction of the predominant surface pattern ordinarily determined by the production
process is called;

(a) ®dg A qA1ae / Surface texture (b) FEEAT/ Waviness
(c) @&/ Roughness (d ®F/Lay

8. dnmivd woreh & "wEgar $r aRemT F=r &7
What is the definition of “tolerance” in BIS System?
(2) Het WHR IV Iafas 3R & &9 i/ Difference between basic size and actual size

(b) FwaR AT IR Ao PR & &g fHoAOrdT 3T / Algebraic difference between

maximum limit and basic size

(0 Awawr d@Fr iR FATH WAT & @I HAW / Difference between maximum limit and
minimum limit
(@ W AR AT ER F frg ATOAT TR / Algebraic difference between limit and

basic size

9. TAWHER 3 # great & @ @ For gar §
The angle between the flanks in trapezoidal thread is
(a) 30 &l / degree (b) 603 / degree
(©) 90 3 / degree (@ 118 / degree

10. 3G 83 womel fFud Wy FT war 7

Indexing head mechanism works with
(a) Y& 3R RfATT/ Rack and pinion (b) ¥ IT 339/ Worm gear drive
() & F3fAer I/ Two helical gear (d) & das R/ Two bevel gear
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11. varfder #ofe & vz fr 70 F & o 2

In a planning machine the depth of cut is given by
(a) TIAH TAE3 H FATNTSHA F= / Adjusting column slide

(by B URF & F3 Hf H YA / Rotating the feed screw of the tool holder
(c) I FoTss o FaEUfd &/ Moving cross slide
(d) IR H 35T/ Lifting the work piece

12. TR wR $r Fearr AT alfe 7 dsa & g w91 § W w@r s 2
In a conventional type vertical milling machine, saddle is placed on top of which part?
(a) #/Knee (b) TR/ Base
(¢) AR/ Column (@  ANG-IF/ Over arm

13. 334 AR @ Wt eRfRadd s araa 2
Which of the following is true related to Down Milling?
(a) IR AT & ¥ & ST AT &/ Known as conventional milling
(b) T TN YA W HOFAA §F a1 ¥/ Cutting force varies from zero to maximum

(0 R #r Al ~graw & HOFanR aF @l &/ Chip thickness varies from minimum to

maximum

(@) INFTH A Tﬂ%’ #AE" / None of the above

14. Sifta #oif % ST ¥ FRT o Y o ey areh ey adier a1 &1 /7 A &7
What is the name of false cutting edge formed on the cutting tool tip by depositing of job

particles?
(a) ¥ 9/ Blunt tip &) AT BFART/ Built Up Edge
() I T/ Clogged tip (d) Ha® U/ Adherent tip

15. T3 AfCeTw 7 vavacw v 3TaGH dIIHT TgA O P EHAT FIT 87
What is the highest temperature withstanding capacity of HSS in degree Celsius?

(a) 250 (b) 600
() 900 (d 1200
A 5 1491



16.

17.

18.

19.

20.

.

oy AT & Hast F FhwA F AR FH A eAfAfa A @ S @ @@ 87
Which one of the following is correct in descending accuracy while precision measuring?

(a) AT AEHHICE, ABHHK, afaay $T9T / Vernier micrometer, Micrometer, Vernier

caliper

(M) I FRAW, AHHAR, FfAax AFHHAICT / Vernier caliper, Micrometer, Vernicr

micrometer

(¢) FEFHARR, afFay AwEeR, affay Hfeut / Micrometer, Vernier micrometer, Vernicr
caliper

@ #ARHHR, AR FRAW, afdwyr AgHEET / Micrometer, Vernier caliper, Vernier

micrometer

T HieX O HFR &F Hg ST sclleh ol GeqHA foheleall gEmM?

What will be the mass of a mild steel block of size one meter cube?

(a) 780 fFala® / Kgs (b)  78009I3s/ Lbs

(c) 7.8/ Ton (d) 78000 IATH / Grams

SRRl wer Fr wof somat A dars wifRE IR F ARl T & AU A IEET HTaA
e I /g SeIn?

How many times the volume of a cube will increase when the length of all sides is increased to
double the initial size?

(a) 270 / Times ()  47AT/ Times

(c) 10717 / Times (d 8 =T / times

Hoerd #MeT g AR FOTFar F1 7T FAW FRETAT A A gl {e §

In a CNC machine tool positioning accuracy value is always better than repeatability value
(a) Wer /True (b) el / False

(c) 3fawier §HT / Most of the time (d INFT & § F1S AT/ None of above

ey Fre & A ada 3 & aha & fg & B g Fea §

The radial distance between the pitch circle and the root circle in a gear is called

(a) ®=5/Land (b) USesHA/Addendum
(¢) 3%=H/Dedendum - (@  FET TEUS / Working depth
6 1491




21.

22.

23.

24.

AFHIH & T R F AqEw §

Zero error in micrometer means

(a) F_i_,'c% Ay @Es & S vy 3R &/ There is negligible gap between the spindle and the

anvil

(b) HBHHEI WA &/ Micrometer is true

() TFed W T & T R@rg @ a1 8/ Zero mark on the thimble is not visible

@) o AUT TaE g% 6 & g § o e ik wiE # 3R W@ & T Ad @

@ ¥/ Zero on thimble and datum line on sleeve do not coincide when measuring faces

are in contact

AT 3ol AR A A F A B wER A g Saged §7

What types of threads are suitable for measuring instruments and measuring gauges?

(a) fofeer vafdo= E{%’*ﬁ! British association threads

(b) Fgead 9= i]j?ﬁf Whitworth screw threads
() UFA gf3Ai/ Acme threads
(d) TR TFEAT/ Square threads

B.A. &= 931 #r 1gwrs g §
The depth of B.A. screw thread is

() 0.61P by 06P
(c) 0.64P . (d) 0.7035P

dvger, aier, & Foar dgr AR TeEhfEs SR FA Aear ded ar ggrt & awer GEe &
T frE R & Hqadsw F1 399 T S 87

What type of abrasives is used for grinding low tensile strength materials like brass, copper,
grey cast iron and aluminium?

(a) ®EH/ Corundum

) wfAfaas sHiFags / Aluminium oxide

(c) & At FET88 / Green silicon carbide

(dy <3 Q(':IIFﬁﬁ'ﬂW 37188 / Brown aluminium oxide
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25, aﬁwaﬁamtgﬁaﬂmwc#&mmwﬁ%m&g?&tiz‘tamawamﬁm
W FAT @ Srar g AR R ey J3r fear snar ¥ @Y 97 FiF O Iwar sgan wida
FEATI §?

A carbon steel piece is heated just above 730°C, maintained at that temperature for a fow
hours and then slowly cooled. What heat treatment process is carried out?

(a) YHHAAEIOT / Normalizing (b) Y3 ZEIHIOT/ Casehardening
() YT/ Hardening (d)  3NST / Annealing
26. 1 fA#HY 59 2
1 mm is ———————inch.
(a) 0.0394 (b) 0.02540
(©® 0.02 d 025

27. ol urg w Fefaf@m & & #la @ o el 9@ F e & Rem A e swe AR
qEA $T &THAT TE@Ar 87

Which one of the following properties of a metal has the ability to change its shape without
destruction under the influence of external force?

(a) AF®EHaT/ Plasticity (b) SARYAT/ Elasticity
(c) gAFaar/ Stiffness (d)  JreErEEedar/ Malleability

28 mm%msﬁma'ﬁaﬂgﬁwﬁmmaﬁm%?

Which type of micrometer does not require zero error correction?

(a) TIE ABPACT/ Tube micrometer (®) e AEHIE/ Ball micrometer
() Tes AT/ Stick micrometer (d) RS AP/ Digital micrometer

29. X T A —— ¥

Density of copper is

(a) 2.70 g/cm? (b) 8.96 g/cm?
(¢ 7.87 g/cm? (d) 19.30 g/cm?
A 8 1491



30. T & AMGH (V)= —|
Young's modulus () = ————.
(a) wiama/3MacdsT aHTd / Stress/Volumetric strain

(b) IHUEUF ATATH/HTEIH fashid / Shear stress/Shear strain
© 3151'2.'?-15‘ gfagani@s ﬁfﬁl Longitudinal stress/Linear strain
(d) HU¥GH ﬁﬁfﬁflm yfaael / Shear strain/Shear stress

31. IifAH & M. A) = ———1
Mechanical Advantage (M. A) =
(a) WATA/AR / Effort/Load (b) HR/9IH / Load/Effort
(¢) .9fAIF/AR / Stress/Load (d) #R/&FEHA / Load/Area

39, A7 T W ATHNF T e Tl e F v Peefaf@a F & A O afer s Sl 2
Which among the following process is employed for embedding the abrasive on the lap plate?

(a) AT/ Lapping (b) fsfFET/ Fixing
(¢) TFHT/ Charging (d) ST/ Rubbing
33. 203872 + 1059" = —— AT #|
Find 2038"2" + 1059 =
(a) 3°97°2" (b) 3°39'1”
(c) 4°37'2" (@ IRFT F A FE 781/ None of the above

34. =TT A FE fr URRAT ZERT @S e §?

Steel balls are made by
(@) #MAIT/ Machining (b) HaTS/ Spinning
(¢} I/ Casting (@ 2T 2T/ Cold heading

35. Frg Terd ¥ NOT ¥ AT ITT FORar arer Nor T HT 39T BT ST §

A grinding wheel with high hardness is used to grind
(a) FR AR HIX @HA/ Hard and brittle material

(b) H HFAT / Soft material
(¢) R M o= WA/ Hard and ductile material
(d) 390ad & § &S 78T / None of the above

A 9 1491



36. Tl v v wHEFIor fager & 07 0 A Ao
In a given right angle triangle find angle 6

2cm
1cm
e
(@) 3033/ deg b) 45 3afr / deg
(¢) 6033/ deg (d) 390Fd H A FE FET/ none of the above

37. 'C' 3ferg ot g% FEy s rar Sar 2
The grinding wheel marked with ‘C’ is made with

(a) TfARATH 3iFAES / Aluminum Oxide
(b) AT FraTEs / Silicon carbide

(¢) &RT/Diamond

(d) *EH/ Corundum

38. f3or @1 g ior Ay avar @

The point angle of a drill depends on

() T3 &7 3MHR /The size of the drill

b)) 7T F IFR/ T}}e type of machine

(c) WHIAT H¥ FOAT/ Hardness of the material
(d) T3 F HXATA / The RPM of the drill

39, WAAHIOT FT 3T &

The purpose of normalizing is to

(a) GHIAT FY T FIAT/ Anneal the material

(b) I HT HPHR TG / Increase the grain size
(c) YT & RAM™T FET/ Refine the structure
(d) HAE M FS AT/ Harden the surface

A 10 1491



40.

41.

42

43.

44,

fAafef@a & @ Fi9 a1 AR & 39T FF RAT A= aTaT ST Tl 67

Which one of the following is not the operation performed using shaper?

(a) FMAT TFE / Machining surfaces

(b) TEce=T FIeaAT/ Cutting splines
() 9 gEr FIET/ Cutting square threads
(d) TAUTE HEAT/ Cutting gears

AaflE e & @y AR M & 30 w@w 9id B W 610 RAA I | d9% & [Av Fed
#r ok &

The cutting speed for a stroke length of 610 mm at 30 strokes per minute in shaper machine
with quick return is

() 30.5 #AeYHAZT / m/min (b) 35 HeYRAT/ m/min
(©) 50.3 MeYfA+E / m/min (d) 5.03 Y=< / m/min

IR F FW dlFg &1 39T AT Sar §

Clapper box in a shaper is used for

(a) FUFIOT Y wEE ¥ U & AT/ To avoid length of tool

(b) A Fr Fhar gARTT A & f&T / To ensure cutting action
(©) Rt s & e 39T F1 38 & v/ To lift the tool during return stroke
(d) FREIT TF F ZhoeT 3T F ISHT/ To Lift the tool during cutting stroke

40 f2ar AfcEaw F1 Ficasd auaET A= 7 g

Convert —40 deg.C in Kelvin temperature scale

() 233K (b) 260K
(@ 313K (d 340K

TeleT & HHR 3TH H0wan I F s gar ¢

The size of a Slotter is specified by its maximum

(a) T F 3-1%'3‘%2‘1' A9 / Longitudinal travel of table

(b) AT 3T 3 F @ Hr FEE/ Height between table and arm
(c) ¢H T HIAATSS ATYG / Crosswise travel of table
(@) YH & T& 1 5918 / Length of stroke of ram
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45. FIE 70 7 X & 90T Wiw H FEA G F HGT &

The formula to find out the number of double strokes of ram in a slotting machine is

(a) nL(1+m)/1000 (b) =dn/1000
(c) 1000V/ndn (d) 1000V/L(1+m)

46. A AN, o T A gE FART yAer g €, sy ¥

A planer machine, which is most widely used in workshop, is called

(a) 3&e gI3TAT taaAT AWM / Double housing planer machine

(b) Rz @R A/M/ Pit planer machine
(¢) &PATAF careix AWM/ Hydraulic planer machine
(@ faafoa d9e ca@R 7T/ Divided table planer machine

47. GAGH A &RT aqdr 99 39eys ¥

Quick return mechanism in a planar is necessary to

(a) Tt Iag & foIv/ Have smooth surface

(b) T 9IS F Fg T A F & AT/ Avoid dulling of the tool point
(0) 3T FF TAT FH A F AT/ Reduce operation time
(d) 3HTIYeT T AT 93 F AT/ Increase operation time

48. ¥t WHA F Fead TAT 012 B g iz O Fw & WU 3n9aF WReAor A 9y
e 37 ot & (@ea fr afy = 22 A

Calculate the revolution’ per minute required for ©12 mm high speed steel cutter when cutting
steel material (cutting speed = 22 m/min)

(a) 771.71 (b) 583.33
) 542.42 (d  760.52

49. FT A F IR H ANHT FQ AT 075, BF At I AFA FEET AT T F
e @efdae & $is fr o Ft (Fea B 7T = 60 m/min IR IR g B = 0.18 mm)

Calculate the feed in mm/min for a ®75, six-teeth helical carbide milling cutter when

machining a cast iron work piece (take cutting speed = 60 m/min and feed por
tooth = 0.18 mm)
(a) 138 FAMFAAZ / mm/min (b) 275 AAAAGT / mm/min
(© 254 AFYAFE / mm/min (d  27.6 AAARFT / mm/min
A 12 1491



50. T=faf@a & @ =i ar fuar & v & e q87 87

Which one of the following is not an advantage of grinding process?

(a) arg 3geia gewl FF 9T ST @oar g / Heat treated components can be ground

(b) cgd R wdel &1 AATOT FIAT 7/ Produces extremely smooth surfaces
(c) 9T AT & WAl F g ST Tl 8/ Heavy volume of material can be removed
@ g o & M WeF ® & THh & / Very light works could also be finished effectively

51. u@mﬁmﬁﬁwﬁmﬁ?wmg‘?

In metal cutting operations, chips are formed due to
(a) Y@F RAFIOT/ linear deformation (b)  3TRIUT fAFTA / shear deformation
© o= 3ANE / linear translation (d) 39T G/ all of the above

52. HIeH T H WSS Ik #T 3 §

Purpose of side rake in a cutting tool is to

() HTH F A Y WS ¥ FUIU / avoid work from rubbing against toll

) T vyaE & Faf¥d I/ control chip flow
{c) GRS Co) A Y / strengthen tool edge
(d) T ST/ break chips

53. I ©F & <O HEew Y fIm S @ Awwe feast wfava & & Smeem?
If the rod diameter is reduced by half, by how much percentage area will be reduced?

(a) 25% (b) 50%
(c) 75% (d) 100%

54. g AT #, R s $v oYy 3k §Rew & s & srqua aar &
In helical milling, the ratio of circumference of the gear blank to the lead of the helix gives the

(a) FIE A AT AT FT HEAT/ Number of teeth to be cut

(b) c¥d ®F AR RaeBEa g5 & AT @A HFNT / Gear ratio for the table screw and
dividing head
() 3maeas 3RT Hig IR He FY UL / Proper feed and depth of cut required

(d) FMAT cae Fr FIoT AfEI / Angle setting of the m/c table

A 13 1491



55. Taref@a & O 9 a1 3caet av &2

Which among following is a sacrificial coating?

(a) T W T¥F 9G4/ Nickel plating on Steel

(b) TeTAIAAA HT CAf3a FIEIT/ Anodic coating of aluminium
(¢) ¥&rer 9T H3fATH T/ Cadmium plating on steel
(d) TS 9T TUiFdr FEIT/ Epoxy coating on steel

56. @AY HIoT gAYYT F fov Feafaf@a & @ «iq a1 a7 &2
Which of the following is true for Third angle projections?
(a) ] Wate IR gR9or & Ao & 1w FRUT &/ Object lies between the observer and plane
*of projection

(b) EYOT F d Wed AR a&] & @7 BT ¥ / Plane of projection lies between the

observer and the object

(¢) EWT/Both (a) 3T / and (b)
(d 3RFTHFI EFT? #&l / None of the above

57. 10 forel gegA® T 10 FJes &1 I AT AT §1 39T 0T AT Hifae|

A force of 10 Newtons is acted upon 10 kg mass. Find the acceleration produced.
(@) 1#HeYdHs?/ m/s? (b) 10 HRYHFE? / m/s?
(© 20 HYIF?/ m/s? (d 100 ATYHF3? / m/s?

58. ?ﬁwﬁar#,aﬁ#mmm#ﬁaﬁﬁaw%ﬁw%mmaﬁ%mﬂﬁ
& & Fr gft T Fer AT

In helical gears, the distance between similar faces of adjacent teeth along a helix on the pitch
cylinders normal to teeth is called as

(a) sIIHEIS =/ Diametral pitch () 3f @/ Axial pitch
(¢) WFT T/ Normal pitch (d) SIH § g A8/ None of these

59. U MO TH H, ¥id 79 U A Hr FEA $EF T @il ¢

In a grinding wheel, the number of mesh per square inch corresponds to its

(a) ¥IGAT/ Structure () ZAT/ Grade
(¢) A HT 3TFI / Grain size (d) @t ufea/ Bond strength
A 14 1491



60. Teer FoRaT H&AT (BHN) &1 301 &
Brinell Hardness Number (BHN) is the ratio of

(a) TS HT &IFA : 3G W @13/ Area of indentation : load on ball

() ¥ 9T AE : I FT &A%t / Load on ball : area of ball
(¢) g W AT : FIEAA FT IS5 &% / Load on ball : surface area of indentation
(d) SEA & FF0T/ Diagonal of indentation

61. 5s GURUT ¥ FIF W UeT FRIETT H7 F@oadm I AH-AE H 207 87

Which term indicates neatness and cleanliness of workplace in 5s concept?
(a) <HITEYT FAT/ Set (b)  BIHAT/ Sort
(¢) ©HAF/Shine (d) &7 {W@AT/ Sustain

62. T D A 3T ¥ AT fry gt & HPAAHF I7 H1 sUEeT BT S 82
Which type of extinguisher is used for class D fire?

(a) WA 'gsilﬁ grer 99/ Foam extinguisher

(b) Har ur3st H}Hﬁ' grell I / Dry powder extinguisher

(© U ¥ 5 dTEe (rg FIS &1 UHR) / Water filled extinguisher (gas cartridge
type)

(@) T ¥ IRT FTAATF (TAEKT A & YFR)/ Water filled extinguisher (stored pressure
type)

63. izzuie FrAor Aol ol Rl # ¥ e ST % R SwdE 82
A point-to-point control CNC system is suitable for which of the following applications?
(a) T3fA9T/ Drilling (b) TATAT WMEEH / Milling profile
(c) efAT/ Turning (d)  #EfEr/ Grinding

64. 170 TN =ur® ¥ e g ¥ 219.80 A 1 A T eFT A Fea F v AT Al
&ad B R HIT I gART ST aIiRe?

At what angle a milling machine table to be swiveled to cut a helix having a lead of 219.80 mm
on a work piece of diameter 70 mm?

(@) 87.00 ()  30.00
© 45.00 @  80.00
A 15 1491



65. Wag IRISST HEAT 0.05 pm FETaT AT & A« @i &

The surface finish grade number corresponds to 0.05 pm Roughness value is

(a) N12 (b) N6
(©) N4 (d N2

66. HidR& 3a <o & TR FFEFT WEEFArT A AT ST FFar 27

The taper of internal dove tail can be measured with the help of

(a) TATSH W</ Combination set

(b) FAFH AT FR AT A5 & JFW/ Rollers of standard dimensions and Slip gauges
(¢) gl a1/ Sine bar
d) s A5t / Dial gauge

67. WFET AMT & wged TEET Fr & @ 240 AN § 3R @ 1000 IRNTH W FART
gt F TarH 8| aslEa & afy T4 32

A grinding wheel used in a grinding machine is of diameter 240 mm and is capable of being
operated at 1000 rpm. What is the grinding speed?

(a) 4.00 FeUTFS / mis () 12.56 HeydFHs / m/s
() 6.28 AeYdFs / m/s d 125.6 HeydPs / m/s

68. T A gaRT AT ST THA AT HIQ BT FeaTT &

Smallest gap which can be measured by a slip gauge is
(@ 0.01 A /mm ®  0.001 A / mm
(¢} 1.001 &+ / mm (d) IuaT F A FIE ¢ /None of the above

9. TR Fdm FRv=RRTIIFT T
Which of the following is CORRECT for the train value of a gear train?

(a) GTFH Y ATA/TATT FT A A/ Speed of driver/Speed of driven

(b) TAT I W AT A TEIVIIAF 9T idt T &A1/ Number of teeth on driven/Number
of teeth on driver

(c) ITeF 9T giah Y FEA/ATET S 9T Sidl FT HEAT/ Number of teeth on driver/Number
of teeth on driven

(d) 39097 H ¥ 1 7§/ None of the above
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70. & T R A 14 B F R wde@ (D) @@ & 22 gfd () 8§ geaer e &1 A A
e

A spur gear has 22 Nos of teeth (T) with a pitch circle (D) diameter of 14 mm. Find out the
value of circular pitch.

(a8) 16 A/ mm b 4 FA/ mm
) 8 A/ mm d 2 BN/ mm

71. =@ & 9 $i7 ar 7 gggar F1 vAR0aE Far §2

Which of the following represents a form tolerance?
(a) THJAT/ Flatness (b) HHTAAT/ Parallelism
() HshearasoT / Concentricity (d) @ed W H3T/ Total run out

72. agﬂéﬂam,mﬁmﬁﬁﬁa;mmﬁm. His, oifd Skt aReree fRufaat #r
o AR AT WTIor Jomelr gErT & i Sk §, wgard @

The machine tool, in which calculation and setting of the operating conditions like depth of
cut, feed, speed are done during the machining by the control system itself, is called

(a) 3-17:153_(%' =T YomelY / Adaptive Control System

(b} =M &g yurrel / Machining Centre System
(c) EFQJ@T TEATcHF A GF0T JoTrelT/ Computer Numerical Control System
(d) e HERATAS AIFT Womelt / Direct Numerical Control System

73. Yl W T & U $T GedAW 64 fhar §) Al dgAn &1 qrcarpdor gEl # 18 I §,
UGHT U U HT GeIHIT F9T 19?

Mass of steel cube is 64 kg on earth. If gravity of moon is 1/8 times of earth, what will be the
mass of cube on moon?

(a) 8T /ke (b) 512U / kg
(c) 64fhar /ke (d 16 T / ke

74. FAEHARY s 95 fw 0.5 B & Ruse W 50 e § Reaa & uF fQwea )
@F afg $r aoEw F:H)

Micrometer spindle thread pitch is 0.5 mm. There are 50 divisions on spindle. Calculate the
linear movement upon one division of thimble.

(a 0.01 A/ mm ® 0.1/ mm
© 0.5HA/ mm (d) 50/ mm
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75. WCHIVT Fag & FAGE A AT 20V3 A ) wEwior 3 Adw e & v snEaw o
TqATH U 4T 87

Across flat dimension of hexagonal face is 20v3 mm. What is the minimum diameter of roil
required to machine the hexagon?

(a) 20 @A/ mm ® 40 AAT/ mm
(¢ 35/ mm (d 30N/ mm

76. 3 JAMGT AR Ufed arell o ¥ T 4 A darg anl 5 AA x 5 AA By dFwa
FATHER qET T AT 6 IO FY U B PeT T 1000/fH.

Calculate cost of 5 mm X 5 mm cross section square bar with a length of 4 meters made of
metal with density 3 grams/cubic centimetre. Cost of metal is Rs. 1000/kg.

(a) 300 (b) 30
() 3000 (d 500

77. @ B F 10 T MR & T g% T We W 4 B w1 1 RRAT SRR g@r a
el aT B¢ T SO 47 gn? 0.2 el & | R 3 0.05 R ¥ 92 ER &Y v
# A wFS B

A hole is to be reamed on mild steel plate with 10mm reamer. What shall be the diameter of
the hole to be made by drilling operation? Consider undersize of 0.2 mm and oversize of

0.05 mm.
(a) 9.75 AFAY/ mm b 9.8/ mm
(¢ 9.95 @AM/ mm (d  10.25 A/ mm

78. UF dlec WHAT 12.9 Iz 1 §| 3wk sifQw qwwa IS w4 e
A bolt material is 12.9 grade. What shall be the material yield strength?

(a) 1200 TAYT / MPa (b) 900 THYIT / MPa
() 1080 THNT / MPa (d 300 AT/ MPa

79. 200 fAFY & WRT IR HT 3UART FI&F 30° F AT § AT aw a9 H I Duila 57
Determine the height of slip gauge for an angle of 30° using Sine bar of 200 mm long.

(@) 400 AH/ mm (b) 400 3 fAF/ mm
() 400/v3 A /mm (@ 100 % / mm

80. A F 9RAT 48 A § IR swhr das suh Gz @ 4 A 3= ¥ 3ma F aved
I1d fifaw

The perimeter of the rectangle is 48 mm and its length is 4 mm more than its width. Find out
the area of the rectangle.

(@ 70T fAH /sq. mm () 140 T AHAY/sq. mm
(©) 247 fAF /sq. mm (d 150 @ TAAY sq. mm
A 18 1491



